STXR
PEO=/NRN—~S

B M x
MEI1—R K49329 - K49330
i, I TRB0920WT TRB0920WN
MEI—R K49331 - K49332

i . TCR0920WT TCRO0920WN
ZRamiteEizX URB0920W-08

- BCENOIRE, HFHmiteRECEETE,
+ ERERO—ERICIE, T LYNEFOHFDHBRHBOET

y e






ot
oo
Wit

BROITEXIZONT RIEER D BIGERIZDINT

1. HmIEXORL, TREB2IE R TI,  ZORBOMEHEmSOSER (R 1L 85
ITHEMBHUETT, 7277, BEEERN ChoTh,
KRRV OIS AT RS ROV V22

O & 4
% BELHVET
=] 7 ﬂ ° )
%gﬁzﬁﬁ;ﬁ ) TR L OMEI IRRIFIT)E FEE ORI CIR T
@ HREE U925, eERRREHE ThHoTh, Wintien
GOmE X BB o T ST AR S ORI Z oV TR X

HOWVEEET,

XA BHAR X IMRARRBE LU, KEIZAE D
F—LTL—MIRRTVET,

2. a0 [—]. ]k UFozezRLCR
y

o

(=] SaRE MBAENTOBEEA
B 2 \Z X BB,

o TR EENSEE TR,
TS LR R



TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT

2P JL—L, FAO—/\—

065-0030-10

REES B&TES B & & W B i =
1 (1338110004 |2PTJL—LCP 1
2 |131006300M |E>CP;F30x 125 1
3 |BZ12045 RILL 8.8 M12%x45 1
4 INNF12 7500480y M12 1
5 (1301930004 |O7—UrHTS545 vk 2
6 |ONA6 J)—R=ZvyTI)IL A M6 3
7 |090678000M |TJwi4:30%4.5 2
8 |000739000M |JFEL:9 2
9 = |000006200M |AT—NHEL:0, I 2
10 |WsS22 INRHFHR 239 M22 2
11 |NZ22150 Fvk 8 242 M22x1. 50 2
12 |1338171004 |FO—/:\CP 1
13 |BZ16040 RILL 8.8 M16x%x40 6
14 |WSA16 NRHPHR 339 M16 6
15 |NZ16 +vk 8 2231 M16 5
16 [1317060004 |RAKCP 1
17 |1032790004 |F+R4ACP 1
18 |094865000M | :B16 X80 1
19 |044606200M |16 HR—kEY 1
20 |PC032032 JYrFr 3.2x32 1
21 |000739000M |JLFEY:9 2
22 |PC050036 JIJFY 5x36 1
23 |068131000M |E> 1
24 1032770004  |sk/—JLCP 1
25 |ONCS1 HJ—X=vFJL C PT1./8 1

l
\5}
|




A ———————————— R

TCRO920WN - TCR0920WT - TRB0920WN - TRBO920WT

2P JL—L, FO—/3—

RUER HmES B & & W kS i =
26 |067426100M |TS545 vk 2
27 |BZ12035 RILh 8.8 M12x35 2
28 130980100M |PaAf > hHHR—KCP 1
29 |BSZ08030 JASRILE 7 M8% 30 2
30 |NSP08 AHRZRT)GFuh 4 M8 2
31 1338261004 |H/\— 1
32 [1309831004 |FL—h 1
33 1338250004 |H/\—:RTFwFS 1
34 |067139100M |F3ry/ > 2
35 |BZ06020 RILE 8.8 M6x20 6
36 WRAO6 ESHYHR M6 6
37 |NSPO06 AT T 9k M6 6
38 |0006900000 |=&1):M8x 14 4
39 |BSPZ08020 JHASWYFHRILE 7 M8X%20 4
40 |NNF12 IS5 F(AvF vk M12 2
41 |042783600M |Twi:12 4
42 |044097200M [Tl w8 4
50 |0599695004 PICU Y4 1
51 |JCS207LLU |3 =yhIHR745CS207LLU 1
52 |ONB6 G1)—2=v7F)L B M6 1
53 |BZ14040 RILk 8.8 M14x40 2
54 WSA14 NRHYHR 339 M14 2
55 |NZ14 +vk 8 221 M14 2
56 1338270004 [ ¥ Tk ITHRFay 1
57 |074781000M |Jvi4;35. 5x45x2. 3 1
58 |DC035 CHARAT U4 35 1
59 11302200006 |¥3Af > k:MD 1
60 10008240000  |PICH/N—:2 1
61 |0000963000 PICF¥v7:35 1
62 |1338050000 |[/N\J—T3Af/ b WWE2380—860 1
63 |066672500M |HAK 1
64 |DCO020 CHANAT 4 20 1




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT

IND—1lr—2

065-0030-1034
RUEE HmES B m A W =k s

1 1226130000 |/8T7—s%v45—T;95R 1
2 [131268100M |FS54vhkCP 1
3 |BSZ10025 JA4RILE 7 M10Xx25 2
4  |WSA10 NeHFHR 3dH M10 2
5 |NZ12 Jvk 8 222 M12 2
6 |WSA12 NRHFHR 339 M12 2
7 |042783600M |Twiw:12 2
8 [122615000M | R7O4vk:40%9T 1
9 [131275000M |h5—;35.2x%x12 1
10 |122614100M |\ A5—:;14 %6 1
11 |BZ06016 ARILL 8.8 M6X%X16 1
12 |WS06 NRYHR 2079 M6 1
13 133816000M |Jvi v;6.5%1.6 1
14 1301950004 |R7O4whk;40%x32T: 1
15 |TRK08025 6hART10. 9 URT M8x25 2
16 |NSZ08 ahAFvbk 8 222 M8 2
17 |LA40042 O—5FI—> 40%x42L 1
18 |1114650000 |EFHE—4 1
19 131764200M |E—A~R—XCP 1
20 |CP05016 +FARaxy M5x16 3
21  |WS05 NFHHR 2379 M5 3
22 |BSPz08030 |IHASWYFARILE 7 M8x30 2
23 |131267000M |L/\— 1
24 |BSZ08030 af%RILE 7 M8X30 1
25 |NSZ08 aHRZFvb 8 2421 M8 2




TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT

IND—I\lr—2

13661
065-0030~-1034
RHEE HaES B & & ¥ S fis
26 |KFD05050200 |[ANA3I9F%F— 1gheE55x%x5% 20 1
- 27 |DEO06 EHNARAT 6 1
28 [132670000M  |RTYL 4 :H2. 3x11x95 1
30 |AA040 O—SFz—2Y¥T 40 1




TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT

Ewvo1) Ik
Wf—©
7
o&—,
REZER ]
065-0030-1035
REEE MmES B & A W Bk & =
1 1309863004 |EwZUTRCP 1
2 |071338000M | HS5—:;21 2
3 |BZ16050 ALk 8.8 M16x%x50 2
4 |042322200M |(Dwi:16 4
5 |WSA16 NRFHR 309 M16 2
6 |NZ16 Jvk 8 221 M16 2
7 |CK080003 YoHFz—2HL—239 8x38Px3 2
8 |SSC0930 vyl 9—3.78 4
9 [101781000M |YZkEw%H CP 1
10 |078612200M | R4 1
11 [NNF10 IS5+ 4avFvk M10 1
12 |WRA20 ESYHR M20 1
13 |PC032032 JYFr 3.2x32 1
14 |044606200M |16 HHR—FE> 1
15 |000739000M |2 FE>;9 1
16 0667842000 |O—7:8 X6500 1




TCRO0920WN - TCR0920WT - TRB0920WN - TRBO920WT
Evo7yvS

REBE| MM &RTES W M & L2k & %
1 /1304990004 EwoF7vTIL—LCP 1
2 1305030004 |HARTFL—ICP;L 1
3 1306430004 | HA(FFL—ICP;R 1
4 |BSPZ08020 | aA4ASWYEHRILE 7 M8x20 6
5 |BSPZ08025 JHFSWYERILE 7 M8X25 2
6 |094889200M |FL—Fk 2
7 |BSZ08012 IHSRILE 7 M8%x12 4
8 |WSAO08 NFHFHR 337 M8 4
9 11050231004 |EwHOFvTh/A—CP 1
10 0591440000 |(F'AAyk 1
11 1181490000 |=%1): M8 3
12 |085222100M |B—4&7T75vwia 23
13 |BSPZ08020 aHASWYFARILE 7 M8X%20 92
14 (1050254004 XA /\—CP 4
15 10852240006 | 48
16 |BSZ08055 aFSRILE 7 M8x55 ' 48
17 |NNFO08 IS5 F(AvF vk M8 48
18 |044097200M |TJwi v :8 48
19 |JSBX0126LLU |1=vhr3HRF7YL S SBXO126LLU 4
20 |DCO12 CHANAT ©4H 12 4
21 0792823004 |H.L 1
22 |BJ08020 HS5%vvT7B 10. 9 M8x%20 4
23 |BJ08035 H+S5%vyT7B 10. 9 M8x35 1
24 INSZ08 ah4F vk 8 21 M8 5
25 |WSA08 NPRYFHR 309 M8 5




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT

Evo7yS

065-0030-1036

RHEE| M&:ES 3 M & W B &
26 |044097200M |Twi¥:8 1
27 1304440004 | v Tk 1
28 |PC050036 JUYEY 5x36 1
29 |057788100M | /s 1
30 |130654000M $H5—;30. 5x48 1
31 [1032960004 |22 L —kCP 2
32 |1301860004 |#A>JL—hCP;L 1
33 - 1044098500M |Twi¥:10 4
34 |BX10070 AL 10.9 M10X70 4
35 |NNF10 IS5 F(avFvk M10 4
36 |WSA10 NRHFHR 3379 M10 4
37 0640350000 |Fq/A>Tvia 12
38 [1032990000 Jwix;43x3. 2 12
39 |065487000M |2.L.:35%x1.2 -
40 |PC050056 JIJE> 5x56 12
41 |085226100M |52 1
42 |JPFL204G N4 BV PF204 1
43 JCS204LLU | 2=whk3HR7YLS CS204LLU 1
44 |BSPZ08025 JAHRSWYERILE 7 M8 x25 2
45 |JPF206G AT TIL PF206 2
46 |JCS206LLU |A=whIHARFI4S CS206LLU 1
47 |BSZ10030 aHEARILE 7 M10x30 2
48 |WSA10 NRFHR 339 M10 2
49 1304450004 |R7O%4wk;50—38T 1
50 |093231100M |RTJO4yk;50x 12T 1




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT

Evo7vr

R MEEES B M & W EES s x

51 10734440000 |SA -
52 |081267000M |F><avA—5 CP 1
53 |080925000M |Fwk 1
54 |082660000M |HS5— 1
55 |BZ12045 RILE 8.8 M12x45 1
56 |[WSA12 NRYHR 3dH M12 1
57 |042783600M |TTwiiy:12 1
58 |LA50064 A—5FI—2 50X64L 1
59 |JPF206 INMMTST =)L PF206 4
60 |JCS206LLU |Z=wk3HARFI4 CS206LLU 2
61 |BSZ10020 aHAEARILE 7 M10x20 6
62 |WSA10 NAHFHR 339 M10 6
63 |NN16 F4arFvk M16 3
64 (0590442006 |TARI Ty ¥ 8
65 |082708200M |RF1J 4 :H 2
66 [129736000M | RTYLH RF— 2
67 INZ12 Fvk 8 22 M12 4
68 8016960004 |70y H/N\—CP 1
69 |088724000M Jwi4;28%x2. 3 2
70 |000088100M |R—AE>:19x3 2
71 1306590004 |T2Fa 7L —kCP;L 1
72 1306600004 |T2F3vJL—kCP:R 1
73 |044097200M |7 v :8 4
74 | NSPO08 aAHEZRT) G F vk 4 M8 4
75 |1306790004 |RA—JLAT—CP 1
76 |000738000M |JLFEL ;6 1
77  |PS050032 ATV EY 5%x32 1
78 |ONA6 HY—R=yFIL A M6 1
79 |CAP040040 Xy 40x40%x3. 2 1
80 |AA050 O—3>Fz—2Y¥5F 50 1
81 |BSZ08020 aHFRILE 7 M8X%X20 1
82 |044097200M Tl v :8 2
83 |NSPO08 aJHFRTV Gy 4 M8 1




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT

*—5

&
44
%&V/"”b éss 36,70
06500307057 129,30 /?/0/37 §\38,59,60
334
RHEE B&EEFES B & £ W EE i =

1 /1306110004 [ARR 1

2  |065487000M |/.:85%x1. 2 -~

3 0709092000  |[Fwia 1

4 0432480010 |Dx—L 4 TL—bk 2

5 1306120004 U3y FRAVITL—hk 1

6 |043249201M | USYFTOXARRTYL Y A 6

7 |044098500M |Twiv:10 6

8 |BSZ10060 JALRILE 7 M10x60 6

9 1306080004 |RFA4SvRCP;50—38T 1

10 |LA50111 O—S5Fr—> 50x111L 1

11 0812670000 |F>i3>rO—5 CP 2
12 |130446000M |Ti3>7—LCP 1
13 |044214301M | v25.5x1.0 -

14 |DCO025 CHARATD T4 25 1
15 |DCO17 CHARAT 4 17 2
16 |ONB6 J1)—R=vy7IJIL B M6 1

17 |094631000M | RFYL 45 :H 1

18 |043341501M | RTYLH RF— 1

19 |Nz12 Jvk 8 222 M12 2
20 |1304580004 |RTA4yk;50—17T 1

21 |KFC10080400 |~NAa¥— 1)3<7J)L10Xx8X% 40 1

22 | TRK08025 BRART10. 9 URTE M8x25 2
23 |NSZz08 a4+ vk 8 21 M8 2
24 |101902000M |75 :PF207 2

25 |JCS207LLU  |a=whkIH~71)4 CS207LLU 1




L

"TCR0920WN - TCR0920WT - TRB0920WN - TRB0O920WT

A—5
RHEEE HMRES B & & W EE & =
26 |BSZ10030 JAFKRILE 7 M10x30 3
27 |WSA10 NRHFHR 339 M10 3
28 1304570004 |7k 1
29 |JPF206G INATS52 )L PF206 4
30 |JCS206LLU |1=wk3a AT 4 CS206LLU 2
31 |BSZ10025 aHARILE 7 M10x 25 6
32 |WSAT10 NAYHR 339 M10 6
33 |NSz10 aHEFvk 8 222 M10 6
34 [1050371004 |RT7O4whk;20T 2
35 10967561000 |+.L:30.5x%0. 6 -
36 0590442006 |TARITwi v 2
37 |NN16 4B vk M16 2
38 |LA50053 O—5Fx—> 50x53L 2
39 |105038100M | T3> 7—LCP 2
40 DC100 CHALAT 4 100 2
41 119235000M |RFYL S :A3. 5x14%x30 2
42 |BAI08120 RILk 4.6 €Y M8x120 2
43 |079424000M |TJ+—HIR;8%x32 2
44 |079425000M |EF>:8%x32 2
45 044097200M |Twi ;8 2
46 |NSZ08 JA4Fvk 8 222 M8 6
47 1050410000 |F> 3> AO—5CP 2
48 |DCO12 CHANAD D4 12 2
49 |1050420004 |RTA4vk;15T 2
50 |105043000M |H5—:82.9x%x19.5 1
51 |105044000M | Hh5—;82.9x39. 5 1
52 1304310004 |\ RX%“')a—CP:L 1
53 1304350004 |R#Z1)1—CP;R 1
54 |J6307LLU R—ILRFY4 6307LLU 4
55 |DHC080 CHARAT 74+ 80 4
56 |130649000M |RZL—/\ 2
57 |055474000M | AH=KILE 8.8 M8x%20 4
58 |NSPO8 SJHARRTI G vk 4 M8 4
59 |AA050 A—S5Fz—2Y¥T 50 3
60 |AD050 A2tvkJ2Y 50 3
61 [NSZ10 aFR2Fvk 8 242 M10 3




R S
TCR0O920WN - TCR0920WT - TRB0920WN - TRB0920WT 4
A—%

135141
085-0030-1038

3|
¥
.
it

RHES HmFES # & & IF

1304731004 H—4CP

JCS309LLU  |2=whkay_R 714 CS309LLU

1304800004 |75

1304810004 |7L—k

0770931000 s

BZ12065 RILk 8.8 M12x65
WSA12 NePHR 339 M12
1050711004 |52

BZ12035 MLk 8.8 M12%x35
WSA12 NRHFHR 3379 M12

105072000M |FL—F

BSPZ08020 aAHASWYFRILE 7 M8x%20

1304530004 |R7A4YRCP;60—2x 13T

1304560004  |Lv—iRILERILA

130650000M | /75—;40X%X40

1018790000 Jwvia

0988800000 2.1\;35.5%0. 6

—t | | o [t |t [t | | k|t
ol o do|lalrnloc Sloe e Nolohiwn =

DC035 CHARAT U4 35
ONA6 J)—R=wTIJIL A M6
20 (0440284000 |Pv—ARJLE;M10Xx55 44 FiE
21 |WSA10 NP HR 339 M10 "
22 INSz10 aH4Fvk 8 22 M10 "
23 1306050004 |RXFA4YRCP:60—2x 30T
24 |085105000M |DJwi:21X9
25 |NN20 F48rFvk M20




TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT

A—%

065-0030-1038
RHEE HMRTEE M m A W B {i& =
26 |105061000M |F> 3> 7—LCP;60R 1
27 1050600004 |ZXFA%5wk;13T—2 1
28 |J6005LLU R—ILRF24 6005LLU 2
29 |DC025 CHARAD 4 25 2
30 |DHCO047 CHARATD 7+ 47 1
31 |096757000M |<1\:25.5X%0. 6 -
32 |ONB6 JY—R=y7IJL B M6 1
33 [130450000M |AYKCP 1
34 1099710000M |HS5— 3
35 0473370006 |RTYLL:A 1
36 |NZ12 Fvk 8 242 M12 2
37 \WRA20 ESHHR M20 1
38 |PC050036 DYy 5x36 1
39 | LAW60066 O—5Fx—Y 60—2X66L 1
40 1306311004 |XHL—/{CP 1
41 [130651000M |3/ /Ls -
42 042783600M |Twi:12 4
43 |BZ12030 RILL 8.8 M12x30 4
44 |WSA12 NBHHR 339 M12 4
45 |AA060-2 A—5Fz—YE¥T 60—2 1




TCR0920WN - TCRO920WT - TRB0920WN - TRBO920WT

RELTL—Ls

13515-1
065-0030-1038

RHEEE HBMmES B & & W EES i
1 1305631004 |RrLIL—LCP 1
2 130905000 | FL—Fk 2
3 |BZ12040 RILE 8.8 M12x40 4
4 |WSA12 NRYHR 339 M12 4
5 INz12 +vk 8 2432 M12 4
6 |BXI16090 RILE 109 €42 M16x90 2
7  WSA16 NRHHR 309 M16 2
8 |0590442006 |TARI Iy N 2
9  |094901000M |RTYL 45 :H 1
10 |043341501M  |RTYLH RF— 1
11 |NZ12 |Fyk 8 22 M12 2




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT

FYRYIX
18

02 13

\Q’
065-0030-1040

RHEBE HMRTEE B & A W 1B %k {i& =

1 1309840002 |PICI %k 1
2 |J6207LLU R—ILRFY4 6207LLU 1
3 |D407210 AL —)L D4A0OX72%x10 1
4 |J7207 FoXashR—ILA_RFTYL4 7207 1
5 |DHC072 CHARAD 7+ 72 1
6 [1018700002 |H5—:35.7x6.5 1
7 |0779320002 [ RRJLE=F 15T 1
8 |0445851000 |Faut(4L;35%0. 1 -
9 |0445862000 | FIItAIL;35%x0.2 -
10 |DCO35 CHANAT U4 35 1
11 |1018710004 | FVYRYIRFyvT 1
12 |BSZ10025 AR 7 M10%x25 4
13 IWSA10 NERHHR 339 M10 4
14 1301820004 |A/FYRYHIX 1
15 0003480000 |F'1)—Rt> 1
16 0003280000 /Sy 1
17 10779311002 |RAJLEA7:23T 2
18 1302121002 | Th; ALY 2
19 1302130004 |Ry2RTL—LCP;R 1
20 1302190004 |RyOIRXTL—ACP;L 1
21 |DCO035 CHANAD U4 35 2
22 |J6207LLU R—ILRFI4 6207LLU 2
23 |J6208LLU R—ILRFY4 6208LLU 2
24 |DHC080 CHARAT 74 80 2
25 11306520004 |52 1




TCR0O920WN - TCR0920WT - TRB0920WN - TRBO920WT
FYRyIX

12 13 )

\@&
065-0030-1040

REEE MEF S M m A W =k i =

26 |BSZ10030 aAHERILE 7 M10%x30 6
27 |WSA10 NRHFHR 3d% M10 6
28 |BZ12040 RILE 8.8 M12%x40 6
29 BZ12045 RILk 8.8 M12x%x45 6
30 |BZ12170 ALk 8.8 M12%x170 3
31 |WSA12 NRHFHR 339 M12 15
32 |NZ12 Fvk 8 2221 M12 15
33  |BZ14035 ALk 8.8 M14x35 4
34 |WSA14 NP HR 339 M14 4
35 |NZ14 Fvk 8 2431 M14 4
36 |000338000M |M10T75%4 1
37 0003390000 |/SwFL (M10F354 A) 1




TCRO0920WN - TCR0920WT - TRB0920WN : TRB0920WT
2L—L5—k

065-D030-1041

RHEEE MR ES B & & fis el
1018612004 |75 JL;L
1018622004 |74 IR
BJ10025 HYS5FvvTB 10.9 M10x25
BJ10035 HS5%vyIB 10. 9 M10x 35
NZ10 Jwk 8 22 M10
WSA10 NRHHAR 339 M10

044098500M  [TJwi4;10

042858201M [V h+4

BZ12030 RILL 8.8 M12x30

NNF12 500400 Fvk M12

1051060004 R— )L xHIRCP

105268000M | RFJ 4 H4Ax21x125

000738000M UV FET;6

049907000M |/ L

1350960004 XYL —/\CP

099233100M |2/ L

BSZ10025 aBHARILE 7 M10x25

. ——
-b-hl—*NNN—‘NNNO)O)O)N-A—L—ﬁgE

—_ et | ek |t |t | ot — | — | —

WSA10 NRFHR 339 M10




TCR0920WN - TCR0920WT - TRBO920WN - TRB0O920WT
0—35

1-E
128B-C-G
13-D-F

REES WM& ES W W A W Lk i =

1 11302700004 |\ R7O4wk;80—10T 1

2 1018820004 |iv—iR)LIRILE CP 1

3  |130653000M | H5—;40x59 1

4 1018790000 |Twia 2

5 0988800000 |4s:35.5x0.6 4

6 |DCO035 CHAMAD 4 35 1

7 |ONA6 J—R=y7IL A M6 1

8 10469070000 | —7RJLF 4 | Ty
9  |WSA08 INRYH R 3379 M8 4 |n
10 [NSZz08 ahEFvk 8 222 M8 4 |n
11 |1302590004 'O—5CP;35S 7

12 |1302550004 |@—>CP;35L 3

13 1302620004 |O—3>CP;35LH 2

14 |076543100M |HS5— 2

15 1302300004 |FLA—5CP:35L 1

16 1302730004 |R7A4vk:60—23T 13

17 1304590004 |RFO4yhk;80—30T 2

18 |065487000M |/s:35x%x1. 2 -

19 0590442006 |[TARI Ty v 13

20 |NN16 FA4a vk M16 13

21 1301831004 |[/\9T24:L 1

22 1301841004 |/\HTU4 R 1

23 |ONC6 H)—R=vyFIJL C M6 1

24 |130209000M (/N1 T7S5> T :PF208 24

25 |130210000M |75 <CP:1 13




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0O920WT

A—>
REES| B mEE B @M & W 5k & E
26 |JCS307DDU | 2A=whk3HAR7Y>45 CS307DDU 13
27 |BZ12030 RILk 8.8 M12%x30 48
28 |BZ12040 RILE 8.8 M12x40 4
29 |WSA12 NRHFHAR 3379 M12 52
30 130211000M |[75>TCP;2 13
31 | JCS207LLU  |a2=whk3AHARFIJo4 CS207LLU 13
32 |DC035 CHANAT U4 35 13
33  |BSZ10020 aHERILE 7 M10x%20 36
34 |BSZ10035 aH5RILE 7 M10%x35 3
35 WSA10 NERHYHR 339 M10 39
36 LA80112 O—>Fx—> 80x112L 1
37 |LA60156 O—35FI—Y 60X 156L 1
38 |LA60181 A—SFzI—> 60x181L 1
39 |101883000M |T> i3 F7—LCP;L 1
40 (1018860004 |XTA4YRCP:80% 12T 2
41 |DCO030 CHANAT 4 30 3
42 1073444000M | A -
43 1130447000M |73 F7—LCP:60A 1
44 |130540000M | T3 F7—LCP;60B 1
45 (0986740004 | RXZO4YhCP;RS60X 13T 2
46 DC025 CHARAD U5 25 4
47 044214301M |DJwiv25. 5x1.0 10
48 |ONB6 J1y—2=vyF)IL B M6 3
49 [130450000M |AwKCP 2
50 |130545000M |OwKCP;S 1
51 |099710000M |HS5— 8
52 0473370006 |RTULY A 3
53 |NZ12 Fyk 8 232 M12 6
54 |060807100M |Twirx 3
55 |PC050036 JYEy 5x36 1
56 1302740004 |R7O%vbk;60—17T 2
57 |J6007LLU R—ILAFY4 6007LLU 4
58 |DC035 CHARAT ¥4 35 2
59 |DHC062 CHABrAT 74+ 62 2
60 |025266000M |FargAHFHR 1
61 10988800000 |2./.;35.5%0. 6 -
62 |AA080 O—SFz—2YEXT 80 1
63 |AA060 O—SFz—2Y¥T 60 2
64 |AD060 A7tvhI2Y 60 1
65 [130709000M |J—1CP;A—8" 1
66 |ONA6 J)—X=vFIJL A M6 1




TCR0920WN - TCR0920WT - TRB0920WN - TRBO920WT

AT47—4

065-0030-1043

RHUBE MBmES B & A W LEE i
1 11019311004 |AvF2 5 Tv4 2
2 |101995000M |EF>;B20X%45 2
3  |WRA20 ESHYHR M20 2
4 |PC032032 J)EY 3.2%x32 2
5 |ONB6 JY—R=w7JL B M6 2
6 |1019320004 (FJwTL/S—CP 1
7. |060807100M |[Twi v 2
8 [PC050036 JJEY 5x36 2
9 |ONB6 H1Jy—2=vy7JL B M6 2
10 [101934000M | RATY2 45 :H . 2
11 11306621006 | AT S ;H6x40%x510 2
12 |043341501M | RTYL T RF— 2
13 |NZ12 Jvk 8 2232 M12 4
14 |000070200M |E>;B16 x40 2
15 |WRA16 ESYHR M16 4
16 |PC032032 JYEr 3. 2x32 2
17 0858590000 |4&yiay 2
18 |097618100M [ L:11X1.0 -
19 |BJ10080 H5%vvyT B 10. 9 M10X80 2
20 |NSZ10 aH4Fvk 8 22 M10 4
21 |134929100M AYKCP:1 1
22 |000056200M |E>:B10X%40 1
23 |WRA10 ESYHR M10 1
24 |PC032016 JYEY 3.2%x16 1
25 |NSZ10 aH%Fvk 8 231 M10 1




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT
AoTA47r—4

RHES HMmES BB W ko " &
26 |079422000M  J#—YIF;10x40
27 |079423000M |E;10x40
28 |134931000M )2 4CP;L

29 |WRA16 ESYHER M16
30 |PC032032 JYEY 3.2x32
31 130493100M |OwKCP:2

32 |WRAO8 ESYHR M8

33 |PC032016 JJEY 3.2%x16

34 1306641004 (T TIL

35 |130494000M |OvKCP;3

36 |BSZ10040 aARRILE 7 M10X40
37 WRA10 ESTHER M10

38 |NSz10 aH4Fvk 8 23 M10
39 |079422000M |TA—4YTUK;10%x40

40 |079423000M |E>;10%40

41 1019471004 | TS54 vk

42 |BZ12110 ALk 8.8 M12x110
43 |BZ12120 RILL 8.8 M12x120
44 |NNF12 IS4k M12
45 |BZ14035 RILk 8.8 M14x35
46 |NZ14 Fvk 8 2232 M14

47 |1306630006 |RT1) 4 ;HOX38%369

48 1129736000M |RTYLH XF—

49 |NZ12 Fvyk 8 222 M12

50 |0830961004 O—5

51 |060807100M |Twir+

52 |PC050036 JIEY 5x36

53 |BSZ08020 34K 7 M8x 20

54 |NSP08 SJHRRTYLGFyk 4 M8
'~ 55 |WRAO8 ESHHR M8

56 082290000M |HhS5—

57 |025266000M  |Farg A HH R

60 1346320000 |Hh™o4—(#H)

® 61~69ft T3>

61 |134633000M | J354vkCP AToar
62 |BSZ08030 aJAhERILE 7 M8 %30 "
63 INSZ08 ah4,vk 8 222 M8 7
64 0967020000 |HI % "
65 |CP03010 +FRaxL M3x10 "
66 |NAO3 Fyb 4 222 M3 "
67 |WSO03 NRHHR 237 M3 "

"

68 |101994000M hHA—L/\—

69 |045998000M |24

70 1349250004 |MJ)wFL/N—CP;R
71 0830930000 |LavHIFTII—IN
72 |060807100M | Twi+

73 |PC050036 JYEY 5%x36

74 |083094000M |HS5—

n

75 |BZ12050 ALk 8.8 M12%x50
76 [Nz12 Fvyk 8 242 M12
77 |WSA12 NELHFHR 339 M12

] |t |t |t |t |t et S S B = (NN = [ [N N[t | = [ = (NN NN | ==t [t |t el (N[ = | = NN N NN NN == =t et e i |

78 1000761100M \Twi¥; 16




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT

HI/\—

065-0030-1044

REEE WMBE:EFES B & 4 W =S & z
1 |1312960003 |ZAkAH/N—CP:L 1
2 1312970003 |ZOvbH/S—CP:R 1
3 1308780000  |BwH/\UKIL 4
4 130887000M | IS4 whkCP 4
5 |BSZ08020 aAZRILE 7 M8x 20 16
6 |NSP08 aAHRRTI Tk 4 M8 16
7  |131326000M | Rbw/y 2
8 |WRA08 ESHHR M8 2
9  |PC032016 JYEY 3.2%16 2
10 |0009341000 |R&f%r;Y—60CI(SFHvFM51}) 2
11 1310290003  |4#*—kHh/3—CP;L 1
12 |1310300003 F—bkHh/A\—CP:R 1
13 11308780000 |Owo/\>KjL 4
14 |130887000M |7S4wkCP 4
15 |BSZ08020 aHERILE 7 M8%20 16
16 |NSP08 IHRRTI G vk 4 M8 16
17 0009321000 |R5¥%3%;R—60CI(STvrM5{T) 2
18 1312150004 |ZO>kH/N—CP;LLo1 1
19 (1312160004 |70 +H/A—CP;L. Lo2 1
20 [1312170004 |70 kH/A—CP:R./Lo 1
21 |1181490000 |=%*1);: M8 3
22 1310830004 |4*—FkH/8—;L Lo 1
23 1310840004 |4*—kH/N\—:R. Lo 1
24 |BSPZ08020 |aA4SWYHARILE 7 M8x20 6
25 |WRAO08 ESHYH® M8 6




I

TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT

HI\—

REEE HAMES B & & W B & =
26 11310850003 |~ —bhUYH/N— ; 1
27 |BSPZ08020 |aA4#SWYHARILL 7 M8x20 8
28 |WRAO8 ESHHR M8 8
29 /0009301000 |&4tE%;R—150TR(SFHvrM51T) 2
30 [1312990003 by Thin— 1
31 |BSPZ08020 aHESWYERILE 7 M8 %20 10
32 |WRAO08 ESYHR M8 10
33 1312620004 |ZO2A/N—CP; M1 1
34 |BSPZ08020 |aHASWYEARILE 7 M8x20 4
36 1312580003 TJAVRH/IA—CP; M2 1
37 |CP06012 +FARaRY MEX12 3
38 NP06 AT Fyk M6 3
39 10333782000 (H)wT 1
40 |WRAO8 ESYH+ M8 2
41 |NPO8 AU Fvb M8 2
42 /0949340000 | T/\—< T Rvk:800 1
43 |131260000M |RT— 1
44  131261000M | Rbkw/s 1
45 |CP06020 +FARapRxY M6x20 1
46 |CP06016 +FRO%xY M6X16 1
47 |NNF06 2500400 vk M6 2
48 1312760004 |H/N—;L 1
49 [1312770004 |H/A—:R 1
50 |1181490000 |=%1J:M8 4




TCRO0920WN - TCRO920WT - TRB0920WN - TRB0O920WT

A7V
TN
\?% 7
% 3
/%\ % 12
\% QQ/ ; 9
4
M "
13
065-0030-1045
RHEE BRmES B W B W {E%4 i

1 1057631000 S)UA:CSHA5Xx310%X445 1
2 |BZ20110 ARILE 8.8 M20%x110 1
3 |BZ20120 RILE 8.8 M20x%x 120 1
4 |NN20 FTA4BrFyk M20 2
5 11033-04 F—RI)IER PF1./4xPT1./4 1
6 |KH0402000BP |2.7W#H—R 1./4%x2000 S1—4 1
7 10887210000 ANNASIFa—T 2
8 10009280000 |RkYT/NILT: 174 1
9  |KH0401200BE | 7W7R—X 1./4x%1200S1- S902 1
10 |0887210000 RINMSINFa—T 2
11 1131453000M | /NJLDRILA 1
12 |BSPZ08016 JHEASWYEARILL 7 M8X16 2
13 |ILT380 A2 a0y934 7. 5%x382 2




TGRO920WN - TCRO920WT - TRBO920WN - TRBO920WT
FUIEY

FIA4VAS AV RAS

NI—Ryh—TAS
FTURE9E—4~

FUR9E—S~

065-0030-1058
RHEBE MeETES W M A W (EE i xE

1 11310862000 |tAFaRvsX 1
2 |cP04012 +FARORT M4 X 12 4
3 |NPO4 ATV TF vk M4 4
4 |1318920000 |3—K;E—% 1
5 10937320000 |HEEtH— 1
6 |CP04016 +FRaRxP M4 x16 4
7  |WRAO04 ESHYLHR M4 4
8 |INPO4 AT GFvk M4 4
9 11313640000 |a—FK;tEA/F¥aRysX 1
10 |1313660000 | —7J)LOvHF vk 1
11 1313860000 | RAYF 1
12 11349550000 |a—K;V9HRyH=R 1
13 1349561000 |Vr9HHRyIX 1
14 1345450000 |3—K:5000 1
15 |ILT100 A2y 34 2. 5%x100 -
16 |ILT150 Aoanyg34 3.5%x152 3
17 |ILT380 Ao a0yP34 7. 5x382 -
18 0937330000 |t H—aATT Ryk 1
19 [FU3 E1—X:3A 1
20 |FU30 Ea1—X;30A 1
21 |801648000M |H7R—Fk 1
22 |CP04012 +FARART MAX12 2
23 |NP04 AT 5 vk M4 2
24  |WRAO04 ESYHAR M4 2




TCR0O920WN - TCR0O920WT - TRB0920WN - TRB0920WT

ERvbk/ 4T

065-0030-1047

REEE HBmEBES B & A W B3k s
1 11302061004 |ERybk/S1TCP 1
2 1018660004 |/\9TL4H 2
3 |ONB6 J)—X=—vyTIJL B M6 2
4 |BZ16040 RILE 8.8 M16x40 3
5 |BZ16065 RILL 8.8 M16x65 1
6 |NZ16 Fwvk 8 222 M16 4
7  |WSA16 NRHPHR 339 M16 4
8 101867200M |H5—;16. 2x20 1
9 |WRA16 ESHYHR M16 1




TCRO920WN - TCGR0920WT - TRB0920WN - TRB0920WT

*aoa

27 :
37.
3 ¢

(\\\‘{ &35 \

Lss
19 34 161&/
18
g

7

065-0030-1048
REEE| MaTES B & % W L2k fis %

1 |131220000M |RFR—ZCP 1
2 |BSPZ08020 |aAHASWYHKIIL 7 M8x 25 2
4 10993650000  |ERRUFAIKRLT 1
5 |BP06016 SWYFHHRIL: 4.6 M6%X16 3
6 [131223000M |7—LCP 1
7  |WRA12 ESYHAR M12 1
8 |PC032020 JUEY 38.2x20 1
9 099385000M |E> 1
10 |WRAO5 ESHH® M5 1
11 |PC020016 JUYFY 2x16 1
12 [131230000M |L/3— 1
13 |BSZ08025 aFRARILE 7 M8x25 2
14 |044097200M |Jwiv:8 2
15 |NSP08 aAHERTI G vk 4 M8 2
16 0993660000 |VH—TFAILEZLH 1
17 [1003771000 |Fa2—T:550 1
18 099386100M |FS54wkCP 1
19 055032000M |AU AR 8.8 M8X15 2
20 |NSPO8 aHBRTY G 9 4 M8 2
21 1003751000 |T>/84%:5 1
22 |BZ06030 RILk 8.8 M6x30 1
23  |WS06 NPRFHR 2379 M6 2
24 1312360000 |Fa21—7;1100 1
25 1003771000 |Fa1—7;550 2




TCR0920WN - TCR0920WT - TRB0920WN - TRB0O920WT
oo

37:933 ‘

32
=

9\35

hl 33
34
19
Q< 18
&

%

065-0030-1048
REEE MBa:ES M m & W =k g &

26 1003781000 |Fa—T;700 1
27 (1366570000 |Fa1—7;1850 1
28 [131232000M  |[Fa91 754 vk ;1 2
29 |131233000M [(FaHaTJS4vhk;2 1
30 |BSPZ08020 |aAHASWYHARILE 7 M8X%x20 1
31 0993870000 TS 4
32 1284600000 T35 1
33 099388000M TL—k 5
34 |BZ06016 ALk 8.8 M6X16 5
35 |INPO6 RAI)GFvk M6 5
36 |ILT150 122099454 3.5x152 5
37 1007150000 | "—R4H527:95 1
38 |055474000M | AYUFRRILE 8.8 M8x20 2
39 |NSPO08 aJHERTYL vk 4 M8 2
40 |BZ06035 RILk 8.8 M6x35 1
41 |134241000M | ~NJLRXMy/RCP 1
42 |WRA06 ESHH* M6 1
43 /1089730000 |H o avARL—F 1
44 11089741000 |k—RF7H TH2—;PT1./8 1
45 1003801000 |Fa1—7:850 1




TCRO920WN - TCR0O920WT - TRB0920WN - TRB0920WT
RAX, INT

|

RHBE e TEH B & 4 W % i z
1 |0003840000 |4#4/+4;11L—15—8PR 2
2 /0003890000 Fa1—7;11L—15 2
3 [1029730000  |FRA—JL;10J%x 15 2
4 0008760004 NTJ:F62x85 2
5 1J30209 T—I\RF1)> /7 ,30209 2
6 |J30206 T—INNT1) % ;30206 2
7 /0008770000  |—I)LTDyi ¥ ;45 %85 2
9 |000712000M |F¥vRILFVb;M24%x15 2
10 [PC040032 JJE> ;4% 32 2
11 1000415000M |[/\TFyv 2
12 /0008780000 |7RJLF;M18X%X1.5x49 12
13 0008840000 |FRq—ILFvb;M18X%X1.5 12

2);11L—15-8
ASY 0008620000 |7 (7%)i11L—15-8PR N 2
® 1.2, 3831 %




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT
ZAX, INT

085-0030-1049
REES WMamES B & A W B fig z

1 0440584013  |[/\T 1
2 |J6205LLU A7V 4:6205LLU 2
3 |000525000M  |Fv T 1
4 |000535000M |HS— 1
5 066580100M |Jwi:10 1
6 |BX10020 ALk 10. 9 M10x20 1
7 |TB10 INYZXHHLR M10(VRNY) 1
8 043827300M |FyvuT 1
9  |BSZ08016 JAZRILE 7 M8Xx16 3
10 |wso08 STyl ;M8 3
11 |DHCO052 CHARATT7F 52 1
12 0005060000 |#4+;11x4. 00—5—4PR 1
13 0005070000 |Fa—T;11%x4. 00—5 1
14 043688200C |7KhA—JL;3. OOSP x5DT 1
15 043689300C |RA—JL(4NJILTfE) ;3. OOSP x 5DT 1
16 |BA08016 RILk;M8x 16 3
17 |NAOS vk M8 3
18 |WS08 ATy M8 3
19 |00505 BAX(U3)11X4. 00—5—4PR ®9.10,11,12,13,14,15,16,17,18




TCR0920WN - TCRO920WT - TRB0920WN - TRB0920WT

<—

RUE=

BRES

B @ & W

Bl
3

g #

0008590000

GHER—LTL—hk

1 1
2 |0792650000 |R—: AT —4 1
3 11003541000  |ZNJL; AATU AR 1
4 1318520000 |SANJL; THAUL 1
5 11318530000 |SAJL:THAUR 1
6 [1318540000 |SNJL;THAUS 1
7 1339790000  [STARY—%45A)L;63 2
8 10818811000 |BEYw—%;C 1
9 |1318550000 |Z\)JL;0920W 2
10 (1319251000 |ZAN)L; FavtA 1
11 1327920000 |SNJL;4F¥aRyIR 1
12 11319270000 |SARI;F 47 1
13 1064790000 |SAJL;4 (43965 1
14 1064890000 |SNJL;EE75 1
15 1065190000 |S~)L;E4£105 1
16 1064850000 |5~ EE71 2
17 1061710000 |[SX)L; 742 8 3
18 (1061701000 |SNJL;EE 7 1
19 1064190000 |SRJL;E4£38 1
20 0008610000 UH%H R—LTL—k 1
21 1339080000 |STARY—535RJL;40( VRILYFE) 1
22 |1065840000 |SANIL:4H (49170 1




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT
F47

065-0030-1057
RHEES WM&:ES M m A W ks i =
1 |130665000M | % Tk;:1 1
2 [130666000M |4 Tk;2 1
3 |000738000M  |Y)>FEr ;6 3
4 |130667000M L /\—CP 1
5 |PS060032 ARTYLFTEY 6x32 1
6 |000453000M |TILAEL;9 1
7 1337850006 | FA7;L 7




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT

cOAINAT AT

[aesss |

065-0030-1050

RHBE B mTES B m A EE fis =
1 (1311961004 /N T429 TL—LCP 1
2  |BSZ08020 JAHERILE 7 M8 %20 4
3 |NSPO8 aAHRRATY 5 vk 4 M8 6
4 |044097200M | ;8 4
5 1079497100M |4 27JL—kCP 2
6 |BSZ08020 JASRILE 7 M8x20 4
7  |INNFO8 IS5 400 vk M8 2
8 BH08016 Fyv7B 10.9 M8x16 2
9 |NSPO08 IHERATI G vk 4 M8 2
10 (1020460000 |F+A7 2
11 BSPZ08020 |[aH4ASWYXHKRILF 7 M8x20 2
12 |WRAO8 EZHHR M8 2
13 | TPA03006 FREYEUFRD A3X6 2
14 [105788000M |FJAVHAR 2
15 |070398000M [R5 A 2
16 |BZ06035 RILE 8.8 M6X%35 2
17 |INNF06 7500400 vk M6 2
18 |WRAO06 ESYHR M6 2
19 |PS060020 2AT)TEY 6%x20 2
20 |1304820004 |kTJA2NA2 T4 CP 1
21 [BSPZ08020 |aA4#SWYFHRILL 7 M8Xx20 4
22 |044097200M |7l ¥;8 5
23 |131153000M | 7>5IL 1
24 |BSPZ08020 |[aA4#SWYHARILL 7 M8x20 3
25 044097200M |Twi ;8 3




TCR0O920WN -TCR0920WT - TRB0920WN - TRB0920WT
KDANATaYT

065-0030-1050

REEE MB&mES | B M A W (EES g =
26 1312030004 |H—YJLCP
27 1311490002 | %7k
28 |PS040025 AT TEY 4x25
29 0774093000 |Twia
30 [1311500000 |# AR —)L
31 131152000M (7245 )LCP
32 |BZ06016 RILL 8.8 M6X%X16
33 |WRAO06 ESHHR M6
34 |WS06 INAHHR 237 M6
35 [134367200M kAU HAKCP
36 |BSZ08020 JASRILE 7 M8%20

37 |044097200M |l ¥:8

38 |NSPO08 AHZRATULG vk 4 M8
39 |131894000M |¥—#HCP ® 421

40 |BSPZ08016 |aA4SWYFxHRILk 7 M8%x 16
41 |044097200M [ ¥ :8

42 10888971000 |*ayah—ACP;150

43 |EWK864106 SFY¥T M6

44 |EWK864206 |LFY¥T M6

45 |ONB6 HJJ—Z2=ZvFI)IL B M6

46 |1302860002 |¥-7:.8T :

47 |J6203LLU R—=ILRTFY 6203LLU
48 |DHC040 CHARAT 74 40

49 |DCO17 CHANAD 45 17

50 |1019510000 |rJA>T—1)

—_ = =S N === = =N = AR IBRINRARRIRINNDN = -




TCRO920WN - TGR0920WT - TRB0920WN - TRB0920WT

EIAINATAT

REEE BRES B & &% W E %k {i& =
51 |TRK08020 6hARY 10. 997RE M8x 20 1
52 |NSZ08 aHA2F vk 8 222 M8 1
53 [1302870004 | R7O4wkCP:L 1
54 1J6203LLU R—ILARFY24 6203LLU 2
55 |DHC040 CHARAT 74 40 1
56 |131154000M |H5—:17.5%6 1
57 1302900004 |¥+:64T 1
58 |KFD05050100 A& — 1JaytS 5X5%10 1
59 |094946000M |Jwiv;17.5%x2. 3 1
60 |DCO17 CHANAT 4 17 1
61 |090360100M | /,.;18.5x%0. 1 -
62 |1303440004 |45 CP : 1
63 |BSPZ08020 |aAHA#SWWHARILE 7 M8x20 4
64 |044097200M |l v :8 4
65 1341740004 |k 1
66 |J6203LLU R—ILRF7Y4 6203LLU 2
67 |DHCO040 CHANAT 74+ 40 1
68 |DCO17 CHARNAT U 17 1
69 8014800000 |(HA/FO—S{ftFz—>;40%x62L 1
70 |1312373004 |FJA2TL—LCP:L 1
71 1312422004 |FJ A2 TL—LCP:R 1
72 |BSPZ08020 |aAH4#SWWHAILE 7 M8x20 4
73 [130340000M |A—SCP;%ZK™ 1
74 |BSPZ08016 |aA4#SWYFHRILE 7 M8x 16 1
75 |044097200M |8 1
76 |JPFL203G NS0T EY PFL203 4
77 |JCS203LLU | 2A=whaAHAF7)4 CS203LLU 2
78 |BZ06016 RILF 8.8 MBX%X16 4
79 |NPO6 AT GFvk M6 4
80 1308430004 | 7—LCP:L 1
81 |1308440004 |7—LCP;R 1
82 [130347000M  |A—S 2
83 |J6203LLU R—ILARF7 >4 6203LLU 4
84 |DHC040 CHARAT 74 40 2
85 |DCO17 ChAakAD ©5 17 2
86 |WRA12 ESHHR M12 2
87 10577421000 | L -
88 NNF12 7505+ (a0Fyk M12 2
89 |082675000M |RTYLT HRATEY 3
90 |079495000M |TriarJL—b 2
91 |013290101M | USYFRATIVY 4
92 |NNF06 2500140 vk M6 4
93 |066672500M |HAK 6
94 |DC020 CHARAT 4 20 6
95 0858040000 |L. 0.27%x14x%25 -
96 [801542000M |HAKCP 2
97 |NP06 ATV G vk M6 4
98 |BSPZ08025 |aA4ASWYFHARILE 7 M8x25 1




TCRO0920WN - TCR0O920WT - TRB0920WN - TRBO920WT

cOA— 0

065-0030-1051
RHES MBA:ES B & A W =k i =
1 |135290000M T3> XT—CP 1
2 |131346000M |FT>3vTL—hk 2
3 |024097000M |29 RU N H 1
4 |WRAO06 ESYHR M6 1
5 |NNF06 75040 Fvk M6 1
6 |BSZ08016 aHFRILE 7 M8%x16 2
7 NSPO08 aAHRRTI G vk 4 M8 2
8 |131266000M |FIA T —S 2 hN— 3
9 |0006900000 |=F1):M8x14 3
10 1312790004  |H4AKFL—kCP 1
11 |BSPZ08016 IHASWYHR)LL 7 M8x16 4
12 |WRAO08 ESHHAR M8 4
13 [1312780003 |A/3\—CP 1
14 |BSPZ08016 |aAH4#SWYFHKILL 7 M8x 16 5
15 |BSZ08016 aAHFARILE 7 M8x%16 4
16 |WRAO08 ESYHAR M8 9
17 |NSPO8 aHRRTI T vk 4 M8 4
18 |1319420000 |SANJL; R4 1
19 079496100M |HAFO—JLCP 2
20 |BSZ08040 aH %KL 7 M8X%40 1
21 |WRAO08 ESHHR- M8 4
22 |WSAO08 INPFHYHR 337 M8 1
23 |NSZ08 ahH%+vk 8 242 M8 1
24 1318860000 |ILTL—hk 1




TCR0920WN - TCR0920WT - TRB0920WN - TRB0O920WT

FIAU IR T AT IR

13527-2
065-0030-1052

RHEE HaFES B m B B fid el
1 [1312460002 |2+ Tk 1
2 |BZ06035 RILL 8.8 M6x%x35 1
3 |NNFO06 IS5 4A0Fyk M6 1
4 |JPFL205G NAI7529 BV PFL205 2
5 [JCS205LLU |2=wkaHARF7YLY CS205LLU 1
6 |BSZ08020 JA&RILE 7 M8x20 2
7  |NSPO8 aHRRTI T vk 4 M8 2
8 |135101000M |7—1);A—110 1
9 |JHF2016 294495 vF HF2016 1
10  |KBB-2020A |H—RUKSARF7I2YS A20%x23%x20 1
11 |082669000M |hS—;sHR%TEY 1
12 |DC020 CHARAT U4 20 1
13 10873081000 |</\;20.5X%0. 27 -
14 |ONA6 HSYJ—X=vFIL A M6 1
15 131247000M |F2iarF7—LICP 1
16 |000034100M | #kiR&E T 30T—1 1
17 |DCO12 CHARAT 4 12 1
18 |KBB-2010A |h—HRURSARF7YLYT A202x3x%x10 2
19 |ONB6 Hy—2=—vFJL B M6 1
20 |VLAO42 VARJLE LA—42 FLov 1
21 [130926000M |XJLERbkw/iCP 1
22 1114650000 |EBE)E—4 1
23 |CP05016 +FARaRY MEX16 3
24 |WSO05 NEHHR 2379 M5 3
25 131080000M |E—H~N—X 1




TCR0920WN . TCRO920WT - TRBO920WN - TRBO920WT
RIDADINAT AT IR

085-0030-10:

RHUEE HMEmES M m A W B &
26 |055474000M |AUFRARILE 8.8 M8 X 20 2 :
27 |[044097200M [Tw,¥:8 2
28 |NSP08 aHRRTI T vk 4 M8 2
29 |BSZ08030 aH%RILE 7 M8%X 30 1
30 |NSz08 ahA2F vk 8 222 M8 2
31 |132670000M R4 H23x11x95 1
32 |DEO006 EHARAT 6 1
33 135099000M | R)LRRIw/SCP 1




TCR0O920WN - TCRO0920WT - TRB0920WN - TRB0920WT
AL —N

065-0030-1053

RiiEs MmES & & W B fi&

1314470004 AIL—IAR—ZCP

1019641000 | RZL—/\

1019651004  |HAKTL—F

BZ06045 ARJILL 8.8 M6x%x45
NNF06 2500 (A0 vk M6

049845000M | X—XCP;L

049846000M | N—XCP;R

WRA16 ESHHLR M16

PS040025 RATYLEGEY 4x25

BSZ10030 JA%HRILE 7 M10%x 30

WSA10 NRYHR 309 M10

044098500M  |"Jyi¥;10

089217000M | RTYL 4L

089218000M |RTFTULY R

e b i banl =S - R RNEES RS RN PR CR R
g N N N N g R g R N LIS I N E

WRA06 ESHYHAR M6




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT
2ININAT AT

RHEE MMmES B & & W =k s =
1 11309150004 |RykIL—LCP 1
2  |BSZ08020 aHERILE 7 M8x% 20 4
3 INSPO08 AHRARTILT 9k 4 M8 4
4 |044097200M |Tvix:8 4
5 1307144004 I L0O—5CP 1
6 |J6010LLU IR—ILA_FY>4 6010LLU 2
7 |DHCO080 CHANAT 77+ 80 2
8 [130916100M |O—S 1
9  |J6301LLU AF7Yr4 6301LLU 2
10 |DHCO037 CHANATD 7+ 37 2
11 11309170002 |2 v Tk 1
12 1043065101M | T—ILY—bh5— 2
13 |WRA12 ESHFHR M12 2
14 |PC032016 JJYEY 3.2%x16 2
15 |134529000M |7—LCP;L 1
16 |061847000M |Jwiv17x1.6 2
17 DCO16 CHRMATD 4 16 2
18 |112083100M |RTFY> 4 ;A4. 0x18x%x85 2
19 1303490004 | ¥/N— 1
20 |075290100M | ¥%:10 4
21 |WSAT10 NR2YHR 339 M10 4
22 |BSZ10030 IHERILE 7 M10%x30 4
23 |NSZ10 ah4+vk 8 221 M10 3
24 BSZ10025 aHERILE 7 M10%25 3
25 |132655000M [/\T9T 4 2 | @26t




TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT

- V] YA 6L Farls

REES HRES B & & ¥ Bk s =l
26 0934880000 |Jwia:16x25 2
27 |ONB6 J)—R=Zv7FIJL B M6 2
28 |055474000M | AHHRKRILE 8.8 M8x%20 4
29 |NSPO8 aHRRTIV G vk 4 M8 4
30 [079160000M |RX 2
31 |0883040000 |2/\:16.5%x22x1.0 -
32 1309270004 |FATF—LCP 1
33 |130348100M |+ 1
34 [130918000M | FAT7TL—k 1
35 |BJ08030 HS5%vvTB 10. 9 M8X30 11
36 |WSAO08 NFHFHR 3379 M8 11
37 |NSz08 aH%Fvk 8 21 M8 11
38 |122643000M |7—.Ls 3
39 |130958000M |7 —.s 3
40 [130919000M |k 1
41 130929000M | Tk 1
42 |061847000M |Twivy 18
43 | PC040025 JYEY 4x25 18
44 122645000M |RTJ2 S H2. 9x20x95. 5 4
45 134937000M |7—LCP 1
46 |PS060032W |RTYLJEY AT 6x32 1
47 |PS035032Ww |\ RT)HEL ATJ)LA3. 5x32 1
48 (0006810000 |=F1):14 1
49 130912000M |AwKCP 1
50 |PC040025 JYEY 4%25 1
51 |061847000M Tl 1
52 |079422000M | TJA—H I F;10x40 1
53 |079423000M - |[EX;10x40 1
54 INSZ10 aH%Fvk 8 231 M10 1
55 |135590100M |J+&vykL/3\—CP 1
56 1349400000 (RFYL4 1
57 |134941000M | SwF 1
58 |ONB6 H)—R=ZwTI)IL B M6 1
59  |PC040025 JUYEY 4x25 1
60 |122668000M |[/\9T4 1
61 |122685000M | Rkw/R 1
62 |BSZ08020 aARARILE 7 M8 %20 2
63 |RBT08025 AR4B 10. 9 M8x25 1
64 [NSPO8 AHBERTY G vk 4 M8 3
65 |BSZ08030 aH4HRILE 7 M8x%30 1
66 |NSZ08 aHb4+vk 8 20 M8 1
67 |1226711004 | ¥ TJhCP 1
68 |J6904LLU R—ILAFULYT 6904LLU 1
69 |DC020 CHARAT U4 20 1
70 |HF2520 DI ITA95vF HF2520 2
71 |J6905LLU R—ILRF7Y4 6905LLU 1
72 |DC025 CHARAT 45 25 1
73 1134523100M | 9529 F—LCP 1
74 |J6805LLU R—IL_RF7Y 6805LLU 2
75 [134619000M |Twiv; 25 5%x1.0 1




TCRO0920WN - TCR0920WT - TRB0920WN - TRB0920WT

2YNINATAT

KET—Hf8

RS HaES B & & W fE%k i
77 |SLFR1-8S OykIVKE LAR AR M8R 1
78 |130923000M |OwKCP 1
79 |NSZ08 aH45Fvbk 8 222 M8 2
80 |000085200M |R—AKF>:8%x1.6 1
81 [1309311004 |HAFJFL—krCP 1
82 BSPZ08020 aHFSWYFHFHRI)ILE 7 M8x 20 4
83 11297910000  [CH™94 2
84 |CP06016 +F AR M16%x16 4
85 INNFO06 2500400 Fvyk M6 4
86 |130933100M |O—SCP;2 1
87 |WRAOD8 ESHHR M8 4
88 |134532000M |7—LCP;R 1
89 |134525100M |AvKCP 2
90 |044098500M |Twi¥:10 2
91 |NNF10 IS5 480 vk M10 2
92 |ONA6 J)—ZA=w7T)L A M6 2
93 |PS040025 AT Ty 4%x25 1
94 |WRA08 ESHYHR M8 1




TCR0920WN - TCR0920WT - TRB0920WN - TRB0920WT

FINT—=227

RHBE HMaES B M & W B i =
1 (1310581004 | —L 2% CP; 3wk 1
2 |055474000M (AU HRRILE 8.8 M8X 20 2
3 |055032000M (AU 1RJILE 8.8 MB8X15 4
4 |NSPO8 aOHBERTY T vk 4 M8 6
5 [131063300M JL—F7—.LCP 1
6 0007220000 |=F1);12 1
7 |131068100M |74 IL;R 1
8 [131069100M | 724U ;L 1
9 [BSZ08016 aAHFRILE 7 M8%X 16 2
10 |BSZ08020 aH4ARILE 7 M8x%20 2
11 |WRAOS8 ESYHR M8 2
12 |NSP08 aHERTI T vk 4 M8 4
13 1292520000 |HARRFJ Y ;20kef 2
14 |WRA10 ESHHR M10 4
15 |PC032016 JYEr 3.2x16 4
16 |131070100M |B—SCP;1 1
17 (1297910000 |94 2
18 |CP06016 +F ARy M6X16 4
19 |NNFO06 IS0 A(AV vk M6 4
20 [1310750003 |t 4—Hh/ — 1
21 0333782000 |HVw 1
22 |WRAO08 ESHYHR M8 2
23 |NSPO08 AHBRTIVG v 4 M8 2
24 |067122000M | F3/\> 2
25 |CM06012 +H5aR2Y M6X12 6




TCRO0920WN - TCR0920WT - TRBO920WN - TRBO920WT
RYNT—0

RHEEE| M RES B & & W EE fid
26 |WRAO06 ESHYAHR M6 6
27 |NP06 ATV GTFyk M6 6
28 |073438200M  |A1/%— 3
29 0006900000 | =F1J:M8x14 -3
30 |1349520000 SAJL;HRyk2 1
31 1318860000 |TLTL—k 1
32 1343580004 |9 Ak 2
33 BSZ10070 aAFARILE 7 M10x70 2
34 INSZz10 ah4+vk 8 22 M10 2
35 |WSA10 NRHFHR 337 M10 2
36 |ONA6 J)—R=v7)IL A M6 2
37 |1349510000 | TR Ry 1




TCRO920WN - TCR0920WT - TRB0920WN - TRB0920WT

=SV 74
18

065-0030-1056

RHEE HREE B ®m & W B i =
1 [130925000M |73l /\—CP 1 | ® 24t
2 1312140000 |Jwia;50%30 1
3 |BSZ08020 aHF4aRILE 7 M8%20 1
4 |NSZ08 aH4Fyk 8 22 M8 2
5 |000034100M [ $kiRElTI a2 T—1) 1
6 |DCO12 CHARAT 4 12 1
7 |130712000M |[F—1);A—83 1
8 |PS080063 ATYLGEY 8%x63 1
9 |130926000M |~NJLERMy/ICP 1
10 |BSZ08020 JA4HRILE 7 M8x%20 1
11 |044097200M |Tvi%:8 1
12 |NSPO08 aAHBRTIVT v 4 M8 1
13 |VLA040 VAL LA—40 A L2P 1
14 [1114650000 |ZBE)E—4 1
15 |CP05016 +FARaRY M5X16 3
16 |WS05 NRHFHR 2979 M5 3
17 [131080000M |E—4—A~—X 1
18 055474000M |hU#AKJLk 8.8 M8Xx20 2
19  |044097200M |TJwi ;8 2
20 |NSPO08 aHERT)5 vk 4 M8 2
21 |132670000M | R4 H23x11x95 1
22 |DE006 EHSRAT 6 1
23 |ONB6 HJ)y—2=w7I)L B M6 1




M O®| S —041108 H

¥ #t 0668555 TR W EEH L 0 6 1
TELO123-2
FAXO123-
FEEXP 06685 FTai EE&H1I 0 6 1
TELO123-22-513

FAX0O123-26-
JBNEHER 0708004 fEJIT#%E 449 THS3ES3
' TELO186-61 6
FAXO166-62-8
EESER 0984100 XEBEENFEEHORYVILI01EH
TELO162-82-1932
FAX0O162-82-1696
WILNE R 0802462 #®LTHAE 22441 TH12%EH
TELO155-37-3080
FAX0155-37-5187
PEEEERT 0861152 WA P ERN LN 2 TH 1 6 % 2
TELO1537-2-2624
. . FAXO1537-3-2540
fEEBEER 0250312 AFREET _KBE=WH333-1
TELO198-26-5741
FAX0O198-26-5746
F IR F IR A R F AR 57552 — 3
TELO19-694-1661
. FAX0O19-694-1662
UBEEEMR 9850845 EHMRLEMHMAM2THIE27E
TELO22-3687-4573
FAXQO22-367-4846
INEREPT 3230158 M K B N I B 2512 — 1
TELO285-49-1500
FAX0285-49-158680
ZHEEERT 4800102 FHIEFPEHETATEHTERS191
TELO587-93-6888
FAXOB587-93-5416
B E PR 7000973 M WBEELH FHEH704—103

TELO86-243-1147
FAX086-243-1269

REREERT 8620039 MAEBATESEEITHIRLE
TELOS96-381-7222
FAX096-384-3525

#Ih = EPT 8850004 H IS EHMIHK A B 3537 — 1

TELO986-38-1045
FAX0986-38-4644

EF\

BREEE 0200173

iyl

M. 16. 11. 5 S (@)





